Goteborgs BF
Grupp B, 13-24

IMP o6ver faltet, 8 bord, 16 par. Antal brickor: 12.

Plac Par Poang Namn MID
1 103 331 Sven Nilsson - Hans Linusson 53041 49276
2 202 2.15 Ulla Johansson - Ulla-Britt Karlsson 57262 88619
3 203 2.02 Solve Helin - Leif Lapidus 49357 34285
4 104 1.24 Anders Hill - Géran Almgren 46869 85480
5 1 0.93 Ulrik Orstadius - Per Svensson 54634 66918
6 204 0.88 Folke Grauers - Branko Stanisic 57805 28169
7 302 0.56 Ann-Christin Carlsson - Monica Dahlstrém 90650 59963
8 101 0.14 Magnus Oberg - Barbro Lindemalm-Lundstam 46355 41690
9 301 -0.14 Jan Erixon - Ulf Keereweer 35629 53168
10 102 -0.56 Madeleine Hederstierna - Carina Blomgren 80967 61390
11 4 -0.88 Peter Ramsgard - Thomas Nortoft 60384 64115
12 201 -0.93 Yr Logadottir - Gunnel Hagberg 65013 63999
13 304 -1.24 Bjorn Lorentzon - Lars Lundén 64113 200814
14 3 -2.02 Lars Nelson - Anders Fahlgren 68450 68451
15 2 -2.15 Tommy Adlerberth - Hakan Soderstrom 48363 59677
16 303 -3.31 Lennart Ekblom - Ulla Kungur 66758 66266
13 & E532 Bésta kontrakt 14 4 D432 Bésta kontrakt 15 D983 Bésta kontrakt
Nord v K83 44 O =-620 Ost v 953 4v S =420 Syd v742 34 S =140
Alla +6 Ingen + EKD4 NS +1043
#Kn10853 & ¢ v & NT #E10 & ¢ v & NT #KD3 & ¢ v aN
« KDKn97 4106 N525 314 & K86 4 Kn97 N 8 9 109 9 4 K72 «E5 N8 759 8
vE76 v 942 S52534 v87 v EKKn4 S 8 9 109 9 vKKn103 v D986 S875 938
+3 ¢ EDKNn108520 7 9 8 109 ¢ 10973 ¢ 652 O5 4344 ¢Kn872 ¢ D95 O56 8 35
&#KD72 &E vV 79 8 109 #DKn64 4987 V543414 *62 #10754 V56835
484 4 E105 4 Kn1064
v DKn105 vD1062 vE5
+ K974 + Kn8 + EK6
»964 #K532 #EKn98
Par Kontr ut Res Poéng Par Kontr ut Res Poéng Par Kontr ut Res Poéang
101 301 5NV-2 #5 200 58.0 -58.0(103 303 3NN+2 vA 460 40.0 -40.0 (102 302 44 S= &6 620 80.0 -80.0
103 303 5¢ O-2 vQ 200 58.0 -58.0(104 304 3NN+1 vJ 430 34.0 -34.0 1 201 INS+1 3 120 40 -40
1 201 3NV-1 #8 100 440 -44.0|101 301 3NS= 48 400 28.0 -28.0 2 202 INS+1 T 120 40 -40
3 203 5NV-1 &3 100 44.0 -44.0 1 201 INS+3 #4 180 -15.0 15.0(101 301 2NN= ¥8 120 40 -40
4 204 3NV= &5 -600 -46.0 46.0 4 204 2NS+2 &4 180 -15.0 15.0|104 304 INS+1 vJ 120 40 -40
102 302 3NO= vQ -600 -46.0 46.0|102 302 2NS+1 #Q 150 -21.0 21.0|103 303 INS= ¥3 90 -3.0 3.0
2 202 3NV+2 &3 -660 -56.0 56.0 2 202 2v S+1 #Q 140 -22.0 22.0 4 204 3NS-1 ¢2 -100 -38.0 38.0
104 304 3NV+2 #J -660 -56.0 56.0 3 203 1¢ N+2 vA 110 -29.0 29.0 3 203 44 N-2 &5 -200 -55.0 550
16 « E985 Bésta kontrakt 17  DKn8732 Bésta kontrakt 18 & EKn42 Bésta kontrakt
Vast v 832 ANT N =430 Nord v 86 54 N =450 Ost v 1097 44 O D -1 100
oV + E103 Ingen ¢ E2 NS + D32
#D63 & ¢ v & NT #D32 & ¢ v & NT #D87 & ¢ v &N
410764 «KD32 N 118 8 8 10 49 4 K54 N 114 8 117 4K976 D83 N4 496 8
v7654 vKD10 S 118 8 8 10 vD10943 v75 S 114 9 117 v5 vK2 S 4496 8
¢Kn98 ¢ K652 024553 ¢ Kn108753 ¢ K964 029423 ¢ E1087 ¢ 9654 09 9375
%85 *94 V24553 «10 *E876 V29411 210642 #»EKKn3 V99375
& Kn «E106 » 105
v EKn9 v EKKn2 v EDKn8643
+ D74 +D ¢ KKn
#EKKNn1072 #KKn954 #95
Par Kontr ut Res Poéang Par Kontr ut Res Poéang Par Kontr Ut Res Poang
103 303 3NS+3 «2 490 45.0 -45.0 1 201 44 N+2 T 480 9.0 -9.0|103 303 3v S+1 #2 170 17.0 -17.0
3 203 3NS+1 8 430 33.0 -33.0 2 202 44 N+1 7 450 1.0 -1.0 2 202 3y S= &T 140 11.0 -11.0
101 301 54S= ¢J 400 28.0 -28.0 4 204 44 N+1 w7 450 1.0 -1.0 4 204 1v S+2 &T 140 11.0 -11.0
104 304 24 S+4 &6 170 -16.0 16.0|101 301 44 N+1 ¥8 450 1.0 -1.0{101 301 3v S= 47 140 11.0 -11.0
1 201 3#S+2 ¥4 150 -20.0 20.0|103 303 54 S= T 450 1.0 -1.0{104 304 2y S+1 &2 140 11.0 -11.0
4 204 34S+2 ¢J 150 -20.0 20.0|104 304 44 N+1 v7 450 1.0 -1.0 1 201 4#0-1 vA 50 -11.0 11.0
2 202 3#S+1 7 130 -25.0 25.0 3 203 3NN+1 &7 430 7.0 7.0 3 203 34V-1 T 50 -11.0 11.0
102 302 3#S+1 8 130 -25.0 25.0(102 302 44 N= v7 420 70 7.0|102 302 3¢ O= vA -110 -39.0 39.0
19 495 Basta kontrakt 20 4 EDKn643 Basta kontrakt 21 498632 Basta kontrakt
Syd v DKn1093 3v S =140 Vast v7 44 N D -1-200 Nord v 974 54 N D -1-200
(6)) + E6 Alla + 8765 NS + KD54
#EK98 & ¢ v & NT »E5 & ¢ v & NT *Kn & ¢ v & NT
aKKn842 &7 N65976 4972 4105 N39 396 4 Kn7 410 N2 7 9 106
vE v K65 S65977 vKn864 vEKD109 S39396 vKKn53 v6 S 27 9 106
¢ K103 ¢Kn97542 0O 5 8 3 55 ¢+ KD ¢E3 09 4 104 6 2 ¢ E10763 O 116 4 2 7
#DKn104 %653 V58355 #K1073 #DKn96 V 9 4 104 6 #EK9642 #D108753 V 115 4 2 7
4 ED1063 4 K8 « EKD54
v 8742 v 532 v ED1082
+D8 + Kn10942 + Kn98
*72 #842 »-
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 201 4v N= &7 420 62.0 -62.0|103 303 24 N+2 ¢A 170 58.0 -58.0|102 302 54DS= &A 850 49.0 -49.0
103 303 2v N+2 &7 170 240 -24.0|104 304 24 N+2 vA 170 58.0 -58.0 1 201 54 S= #A 650 15.0 -15.0
104 304 2v N+2 &7 170 24.0 -24.0 1 201 3»O+1 &K -170 40 -40 2 202 54 S= ¢2 650 15.0 -15.0
2 202 4v N-1 &7 -50 -22.0 220 4 204 3v O+1 4K -170 40 -40 3 203 54 S= &A 650 15.0 -15.0
3 203 4v N-1 &7 -50 -22.0 22.0(101 301 3v O+1 &K -170 40 -40|103 303 44 S+1 #A 650 15.0 -15.0
4 204 3v N-1 &7 -50 -22.0 22.0(102 302 3vV+l «4A -170 40 -40|104 304 54 S= &A 650 15.0 -15.0
101 301 44 N-1 a7 -50 -22.0 220 2 202 4y O= &K -620 -66.0 66.0|101 301 7#DV-2 ¢K 300 -45.0 45.0
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102 302 4y N-1 a7 -50 -22.0 220 3 203 4vV= #A -620 -66.0 66.0 4 204 62V-1 42 50 -79.0 79.0
22 «E5 Basta kontrakt 23 » K1082 Basta kontrakt 24 #9632 Basta kontrakt
Ost v EKD8 64 O D -3800 Syd v42 44 V =-620 Vast v EK54 3¢ V =-110
oV ¢ EKn742 Alla + K542 Ingen ¢ 94
&ED & ¢ v & NT #Kn92 & ¢ v & NT #Kn72 & ¢ v & NT
4 KD10842 4 Kn96 N 8 12104 11 «EKn96 D753 N26 333 4 Kn5 « K1084 N5 476 4
vKn v 97543 S 8 12104 11 vKn75  vEK108 S$26333 v7 v 10986 S5476 4
+9 ¢ 1063 051392 ¢E3 *87 O 107 9 108 ¢ EKDKn863 ¢ 10 089677
#Kn5432  #K6 V51392 #EK85 #D74 V 107 9 108 *EK6 #10843 V89677
473 a4 «ED7
v 1062 v D963 v DKn32
¢ KD85 ¢ DKn1096 ¢ 752
10987 #1063 «D95
Par Kontr ut Res Poéng Par Kontr ut Res Poéng Par Kontr ut Res Poéng
103 303 3NN+2 ¥3 460 34.0 -34.0 4 204 44 V-1 v2 100 60.0 -60.0 4 204 64 V-3 vK 150 43.0 -43.0
1 201 5¢ S+1 vJ 420 27.0 -27.0 (101 301 4e V-1 ¢2 100 60.0 -60.0 103 303 4¢ V-1 vA 50 25.0 -25.0
2 202 5¢ S+1 &K 420 27.0 -27.0 (104 304 44 V-1 &9 100 60.0 -60.0(104 304 3NV-1 vA 50 25.0 -25.0
4 204 4y N= &J 420 27.0 -27.0 2 202 44 V= v2 -620 -36.0 36.0 1201 1¢ V+2 vA -110 -50 5.0
102 302 5¢ S= vJ 400 21.0 -21.0 3 203 44 V= v2 -620 -36.0 36.0(102 302 1¢ V+2 vA -110 -50 50
3 203 3¢ N+2 &6 150 -24.0 24.0(102 302 44 V= v4 -620 -36.0 36.0 2 202 1¢ V+3 vA -130 -12.0 12.0
101 301 4vy N-1 46 -50 -56.0 56.0(103 303 44 V= v4 -620 -36.0 36.0 3 203 4¢ O= vJ -130 -12.0 120
104 304 6vy N-1 T -50 -56.0 56.0 1 201 3NV+1l 8 630 -36.0 36.0(101 301 3NV= v3 -400 -59.0 59.0
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